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Sentence Connectors Questions - Get 10 MCQs with Solutions

In today's segment, we will be focusing on Sentence Connectors, a significant topic of English Language section that
holds substantial weightage in competitive exams. Almost 3 - 4 questions surely come from this topic in almost all SSC
and Bank exams. Sentence Connectors questions are an integral part of the English section and demand a strong grasp
of concept clarity and understanding of rules.

In this blog, we'll comprehensively explore the foundations and nuances of Sentence Connectors questions. We've
included 10 real exam-level questions to give you a preview of the challenges you'll face. Practice questions are
categorized into different difficulty levels, ranging from 1 to 10. 1 denotes the least difficult and 10 denotes the most
difficult. We have also given an estimated expected time to solve each question, to boost your preparation and speed.
Moreover, you can also download Sentence Connectors questions and answers PDF by clicking on 'Download PDF' button
above.

Sentence Connectors
Top 10 MCQs
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[Source : KD Live]

Sentence Connector Questions

Q:1 A grammatically correct and contextually meaningful statement has been given in the following question. Five
similar sentences have been placed next to each statement, one of which is contextually similar in meaning to the one
given in the question. Choose the most appropriate sentence that conveys the same meaning as the given statement.

l. Though India is a vibrant democracy today.
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. Politics in the battleground state is still influenced by the Hindu caste system, a social hierarchy with its origins in
antiquity.

1. Even though India today is a vibrant democracy today, politics in the battleground state is still influenced by the Hindu
caste system, a social hierarchy with its origins in antiquity.

2. As India today is a vibrant democracy today, politics in the battleground state is still influenced by the Hindu caste
system, a social hierarchy with its origins in antiquity.

3. Despite India being a vibrant democracy today, politics in the battleground state is still influenced by the Hindu caste
system, a social hierarchy with its origins in antiquity.

4.Both 1and 3
[Difficulty: 6, Estimated time: 1 min]
Starting strong is good.

Q:2 A grammatically correct and contextually meaningful statement has been given in the following question. Five
similar sentences have been placed next to each statement, one of which is contextually similar in meaning to the one
given in the question. Choose the most appropriate sentence that conveys the same meaning as the given statement.

|. The National Pharmaceutical Pricing Authority (NPPA) capped the prices of medical stents, which are used to treat
coronary artery disease.

[l. It is an extreme regulatory measure necessitated by the market failure that afflicts the overall delivery of health care in
India.

1. Capping the prices of medical stents, which are used to treat coronary artery disease by the National Pharmaceutical
Pricing Authority (NPPA) is an extreme regulatory measure necessitated by the market failure that afflicts the overall
delivery of health care in India.

2. While the National Phermaceutical Pricing Authority (NPPA) capped the prices of medical stents, which are used to
treat coronary artery disease. It is an extreme regulatory measure necessitated by the market failure that afflicts the
overall delivery of health care in India.

3. Now that the prices of medical stents, which are used to treat coronary artery disease by the National Pharmaceutical
Pricing Authority (NPPA) is an extreme regulatory measure necessitated by the market failure that afflicts the overall
delivery of health care in India.

4. However, an extreme regulatory measure necessitated by the market failure that afflicts the overall delivery of health
care in India. The National Pharmaceutical Pricing Authority (NPPA) capped the prices of medical stents, which are used
to treat coronary artery disease.

[Difficulty: 5, Estimated time: 1 min]
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Come on, buckle up

Q:3 A grammatically correct and contextually meaningful statement has been given in the following question. Five
similar sentences have been placed next to each statement, one of which is contextually similar in meaning to the one
given in the question. Choose the most appropriate sentence that conveys the same meaning as the given statement.

I. The world is agog with 'herbal’, 'organic’ and ‘ethnic products.

Il. This could be used to the advantage of those who live in the mountainous regions if they can process natural resources
into herbal medicines.

1. As the world is agog with 'herbal’, ‘organic’ and 'ethnic products, this could be used to the advantage of those who live
in the mountainous regions if they can process natural resources into herbal medicines.

2. The fact that the world is agog with 'herbal, 'organic’ and 'ethnic products, this could be used to the advantage of those
who live in the mountainous regions if they can process natural resources into herbal medicines.

3. Processing natural resources into herbal medicines, could be used to the advantage of those who live in the
mountainous regions and the world is agog with 'herbal’, ‘organic' and 'ethnic products.

4. Both 1 and 2.
[Difficulty: 7, Estimated time: 1 min]
Time flies so quick.

Q:4 A grammatically correct and contextually meaningful statement has been given in the following question. Five
similar sentences have been placed next to each statement, one of which is contextually similar in meaning to the one
given in the question. Choose the most appropriate sentence that conveys the same meaning as the given statement.

I. The Election Commission has banned invoking the name of religion or community.

[l. However political leaders continue to use them so blatantly because they know that Muslims do have a say when it
comes to elections.

1. Although the Election Commission has banned invoking the name of religion or community, however political leaders
continue to use them so blatantly because they know that Muslims do have a say when it comes to elections.

2. Since political leaders continue to use them so blatantly because they know that Muslims do have a say when it comes
to elections, the Election Commission has banned invoking the name of religion or community.

3. As, Election Commission has banned invoking the name of religion or community, however political leaders continue to
use them so blatantly because they know that Muslims do have a say when it comes to elections.

4. Moreover, the Election Commission has banned invoking the name of religion or community, however political leaders
continue to use them so blatantly because they know that Muslims do have a say when it comes to elections.
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[Difficulty: 5, Estimated time: 1 min]
Wow! This is too easy.

Q:5 There are sets of four statements in question given below which, when connected using the correct sentence
structure forms a complete single sentence without altering the meaning of the sentences given in the question. There
are four options given below the question, choose the sentence that forms the correct formation of a single sentence
which is both grammatically correct and contextually meaningful. If none follows, choose (e) as your answer.

The Prime Minister made an announcement on the World Environment Day; India would eliminate single-use plastics by
2022; this is a dramatic statement of intent; it is not yet evident that the deadline is based on a considered plan to make
this actually happen.

1. Edicts and pronouncements do not bring about change and need to be backed by detailed, realistic, and implementable
plans like India would eliminate single-use plastics by 2022 but is not yet evident that the deadline is based on a
considered plan to make this actually happen.

2. It is not yet evident that the claim that India would eliminate single-use plastics by 2022 is a dramatic statement of
intent and is based on a considered plan to make this actually happen as per an announcement on the World Environment
Day made by the Prime Minister.

3. Although Prime Minister's announcement on 5 June, World Environment Day, that India would eliminate single-use
plastics by 2022 is a dramatic statement of intent, it is not yet evident that the deadline is based on a considered plan to
make this actually happen.

4. In a dramatic statement of intent made by the Prime Minister on the World Environment Day, what is not yet evident is
the deadline that is the basis on a considered plan to make this actually happen so as to eliminate single-use plastics by
2022.

[Difficulty: 5, Estimated time: 1 min]
Hurry up time ticking

Q:6 There are sets of four statements in question given below which, when connected using the correct sentence
structure forms a complete single sentence without altering the meaning of the sentences given in the question. There
are four options given below the question, choose the sentence that forms the correct formation of a single sentence
which is both grammatically correct and contextually meaningful. If none follows, choose (e) as your answer.

The problems of implementation of a plastic ban are not unique to India; Across the world, there are multiple bans on
plastic; There exists taxation of plastic bags; These have achieved mixed results; many of them have failed even in the
developed world.

1. The problems of implementation of a plastic ban are not unique to India. Across the world, bans on plastic and taxation
of plastic bags have achieved mixed results, with many of them failing even in the developed world.

4
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2. Across the world, mixed results have been achieved due to bans on plastic and taxation of plastic bags after failing in
the developed world and thus, this issue of problems of implementation is not unique to India.

3. With many of bans failing even in the developed world, across the world, there are bans on plastic and taxation of
plastic bags which will be achieved mixed results with the problem of implementation of a plastic ban not be unique to
India.

4. Having achieved mixed results in the developed world, the multiple bans on plastic and taxation on plastic bags have
now found a calling in India but with problems of implementation that are not unique to India.

[Difficulty: 6, Estimated time: 1 min]
Its time to prove

Q:7 In the question given below few sentences are given which are grammatically correct and meaningful. Connect
them by the word given above statements in the best possible way without changing the intended meaning. Choose
your answer accordingly from the options to form a correct and meaningful sentence.

(1) It wasn't for the current skirmishes in the 'Galwan Valley'.
(Il) The economy of the region depends heavily on tourism and construction contracts provided by the security forces.
(1) Ladakh would continue to be discussed for its scenic beauty and be populated by tourists from all over India.

(IV) The tourism industry received a shot in the arm after the climax of a famous Bollywood movie, 3 Idiots, was shot at
the serene Pangong Lake, turning it into a popular tourism hub overnight.

1. () and (1V)
2. (1) and (1)

(I1) and (1)
4. (1) and (1V)

3.

[Difficulty: 7, Estimated time: 1 mins]
Come on, hurry up

Q:8 There are sets of four statements in question given below which, when connected using the correct sentence
structure forms a complete single sentence without altering the meaning of the sentences given in the question. There
are four options given below the question, choose the sentence that forms the correct formation of a single sentence
which is both grammatically correct and contextually meaningful. If none follows, choose (e) as your answer.

Pakistan's general elections are scheduled to be held in July 2018; there is a popular argument that the Pakistani military
has revived complete dominance and hegemony over civilian and electoral politics; however, fewer people are now buying
into the opinion; many don't believe that the military is somehow “better” than democracy.
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1. There is a popular argument that the Pakistani military has revived complete dominance and hegemony over civilian
and electoral politics and fewer people are now buying into the opinion in Pakistan that Pakistan's general elections are
scheduled to be held in July 2018 and the military is somehow “better” than democracy.

2. Many don't believe that the military is somehow “better” than democracy and as Pakistan’s general elections are
scheduled to be held in July 2018 and there is a popular argument that the Pakistani military has revived complete
dominance and hegemony over civilian and electoral politics.

3. Fewer people are buying the news that Pakistan's general elections are scheduled to be held in July 2018 and are
popularly arguing that the Pakistani military has revived complete dominance and hegemony over civilian and electoral
politics because many don't believe that the military is somehow “better” than democracy.

4. Pakistan's general elections are scheduled to be held in July 2018. Contrary to the popular argument that the Pakistani
military has revived complete dominance and hegemony over civilian and electoral politics, fewer people are now buying
into the opinion in Pakistan that the military is somehow “better” than democracy.

[Difficulty: 6, Estimated time: 1 min]
This shouldn't take much time

Q:9 There are sets of four statements in question given below which, when connected using the correct sentence
structure forms a complete single sentence without altering the meaning of the sentences given in the question. There
are four options given below the question, choose the sentence that forms the correct formation of a single sentence
which is both grammatically correct and contextually meaningful. If none follows, choose (e) as your answer.

When Uber and Lyft were voted out of Austin, Texas, for not agreeing to follow rules on background checks of their
drivers, their drivers were left in the lurch; It was the city that helped them bounce back by organising job fairs; If the

same were to occur in India, the number of affected drivers would be far greater; especially looking at the apathy towards
taxi drivers as a class of urban workers.

1. When Uber and Lyft were voted out of Austin, Texas, for not agreeing to follow rules on background checks of their
drivers as per the state’s policy, their drivers were left in the lurch and It was the city that helped them bounce back by
organising job fairs but if the same were to occur in India, the number of affected drivers would be far greater what with
the apathy towards taxi drivers as a class of urban workers.

2. If the affected drivers would be far greater in India, it looks more apathetic and when Uber and Lyft were voted out of
Austin, Texas, for not agreeing to follow rules on background checks of their drivers as per the state’s policy, their drivers
were left in the lurch and then they made the same happen in India, where there was more apathy.

3. The city that helped them bounce back by organising job fairs when they were left in the lurch and Uber and Lyft were
voted out of Austin, Texas, for not agreeing to follow rules on background checks of their drivers as per the state’s policy
and also if the same were to occur in India, the number of affected drivers would be far greater what with the apathy
towards taxi drivers as a class of urban workers.
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4. Uber and Lyft were voted out of Austin, Texas because their drivers were left in the lurch for not agreeing to follow rules
on background checks and it was the city that helped them bounce back by organising job fairs simultaneously if the
same were to occur in India, the number of affected drivers would be far greater what with the apathy towards taxi drivers
as a class of urban workers.

[Difficulty: 7, Estimated time: 1 min]
Time flies so quick.

Q:10 Select the phrase/connector from the given options which can be used to combine the given two sentences into a
single sentence, implying the same meaning. If none of the options are correct then mark the option 'None of these'.

1. The White House secretariat had blocked a representative from testifying to Congress, saying it would be
counterproductive for the senior member of the White House coronavirus taskforce to talk about the government’s
response to the pandemic in a House committee hearing.

2. The President welcomed Mitch McConnell's move to recall the Senate to Washington despite the congressional
physician’s office reportedly telling Republicans it would not be able to screen all 100 senators.

1. Despite

2. However

3. Meanwhile

4. Above all

[Difficulty: 7, Estimated time: 1 min]

Hurry up time ticking

Answer key for Sentence Connectors Questions

Dive into detailed solutions and discover how to tackle even the trickiest questions. You'll soon find them easy and
intriguing, adding depth to your learning experience.

1.(4) |2.(1) |3.4) |4.(1) |53

6.(1) (7.2 [8.(® |9.(1) [10.(3)

We've explored various aspects of the same topic together. If you found it easy, that's fantastic! But if you faced
challenges, don't worry—detailed solutions are here to clear any doubts and enhance your grasp of the topic.

Solution of Sentence Connector Questions

7
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Q:1 The correct answer is Option 4 i.e. Both 1 and 3.

Both the starters mentioned in option 1 and 2 are best suited as to join the given sentences, which makes the sentence
meaningful.

Hence, the correct answer is Option 5 i.e. Both 1 and 3.

Q:2 The correct answer is Option 1 i.e. Capping the prices of medical stents, which are used to treat coronary artery
disease by the National Pharmaceutical Pricing Authority (NPPA) is an extreme regulatory measure necessitated by the
market failure that afflicts the overall delivery of health care in India.

The starter mentioned in option 1 is best suited as 1o join the given sentences, which makes the sentence meaningful.

Hence, the correct answer is Option 1 i.e. Capping the prices of medical stents, which are used to treat coronary artery
disease by the National Pharmaceutical Pricing Authority (NPPA) is an extreme regulatory measure necessitated by the
market failure that afflicts the overall delivery of health care in India.

Q:3 The correct answer is Option 4 i.e. Both 1 and 2.

Both the starters mentioned in option 1 and 2 are best suited as to join the given sentences, which makes the sentence
meaningful.

Hence, the correct answer is Option 4 i.e. Both 1 and 2.

Q:4 The correct answer is Option 1 i.e. Although the Election Commission has banned invoking the name of religion or
community, however political leaders continue to use them so blatantly because they know that Muslims do have a say
when it comes to elections.

The conjunction that is best suited so as to join the given sentences is 'although'.

Hence, the correct answer is Option 1 i.e. Although the Election Commission has banned invoking the name of religion
or community, however political leaders continue to use them so blatantly because they know that Muslims do have a
say when it comes to elections.

Q:5 The correct answer is option 3 i.e. Although Prime Minister's announcement on 5 June, World Environment Day, that
India would eliminate single-use plastics by 2022 is a dramatic statement of intent, it is not yet evident that the deadline
is based on a considered plan to make this actually happen.

The given question is to find the sentence which when connected using the correct sentence structure forms a complete
single sentence without altering the meaning of the sentence.
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Option 1 is incorrect as the first few fragments of the line are not a part of the original set and cannot be included as
such.

Option 2 is incorrect as it seems to say that the claim of India eliminating single-use plastic is not dramatic. This is
opposite of what the original set states.

Option 4 is incorrect as the sentence structure is incorrect as the statement of intent is to be elaborated in the beginning
and not the end. Also, the use of the word basis is incorrect and should be replaced with base.

Option 3 is correct and states everything right grammatically as well as contextually.

Q:6 The correct answer is option 1 i.e. The problems of implementation of a plastic ban are not unique to India. Across
the world, bans on plastic and taxation of plastic bags have achieved mixed results, with many of them failing even in
the developed world.

The given question is to find the sentence which when connected using the correct sentence structure forms a complete
single sentence without altering the meaning of the sentence.

Option 2 is incorrect as it seems to imply that the bans were imposed on plastics after they failed in the developed
nations which is not the case as per the original set.

Option 3 is incorrect as it is not meaningful in terms of structure and grammar.

Option 4 is incorrect as it changes the entire meaning of the original set and seems to imply that after failing in the
developed nations, Its implementation has been successful in India with some problems being common to the other
nations.

Option 1 is correct and states everything right grammatically as well as contextually.
Q:7 The correct answer is option 2 i.e. (I) and (llI).

The given question is to find the sentence which when connected using the correct sentence structure forms a complete
single sentence without altering the meaning of the sentence.

‘If' is used as a condition or supposition. Here the condition is the recent skirmish of the Galwan valley and the result is
continuing to be discussed all over India. So, (1) and (1) will be that pair of sentences.

After connecting two sentences the final sentence will be

‘I it wasn't for the current skirmishes in the Galwan Valley, Ladakh would continue to be discussed for its scenic beauty
and be populated by tourists from all over India.
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Q:8 The correct answer is option 4 i.e. Pakistan's general elections are scheduled to be held in July 2018. Contrary to the
popular argument that the Pakistani military has revived complete dominance and hegemony over civilian and electoral
politics, fewer people are now buying into the opinion in Pakistan that the military is somehow “better” than democracy.

The given question is to find the sentence which when connected using the correct sentence structure forms a complete
single sentence without altering the meaning of the sentence.

Option 1 is incorrect as this changes the meaning of the original set and seems to imply that there is less number of
people believing in the fact that elections are to be held in July.

Option 2 is incorrect as the statement seems to imply that there are arguments about when the Pakistan elections would
be held while in the original set, this is a given fact and not an opinion. This changes the meaning of the set and is
incorrect.

Option 3 is incorrect for the same reason stated for option 2.
Option 4 is correct and states everything right grammatically as well as contextually.

Q:9 The correct answer is option 1 i.e. When Uber and Lyft were voted out of Austin, Texas, for not agreeing to follow
rules on background checks of their drivers as per the state’s policy, their drivers were left in the lurch and It was the
city that helped them bounce back by organising job fairs but if the same were to occur in India, the number of affected
drivers would be far greater what with the apathy towards taxi drivers as a class of urban workers.

The given question is to find the sentence which when connected using the correct sentence structure forms a complete
single sentence without altering the meaning of the sentence.

Option 2 is incorrect as the statement is totally incorrect and conveys a different meaning than that stated in the original
set.

Option 3 is incorrect as the pronouns ‘they’ and ‘them’ mentioned in the beginning have not been specified before and the
statement so formed is meaningless.

Option 4 changes the meaning of the statement by stating that the drivers did not agree for a background check which is
incorrect and then they moved to India, which is absurd.

Option 1 is correct and states everything right grammatically as well as contextually.
Q:10 The correct answer is option 3 i.e. Meanwhile.

The connector that has to be used here should be based on a logical and contextual relationship between the two
statements.

‘Above all' represents an emphasis based connector.

‘Meanwhile' represents a logical and contextual relationship.

10
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'Despite’ and 'However' represent a contrast between the two statements.

Congratulations on completing 10 Sentence Connectors questions of varying difficulty levels. Your dedication to practice
is commendable and will undoubtedly enhance your English Language and Grammar skills. Comment your thoughts
below and let us know how was your experience practicing these specially curated questions for you. If you have any

doubts, you can ask in the comment section and we'll be right there with answers in no time. Keep up the great work, and

you'll be well-prepared to tackle similar challenges in the exams. will be here with with top 10 questions from

different topics, on a daily basis. Stay tuned!
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